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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off. attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Q1. Tr=fafas & & weew wt s 150 vt & wawe Hifvo

Explain the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q2. (a)

(b)

(c)
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&I STHA

Goal Succession

vage fearegfa

Span of Management

verushig fire
Managerial Grid

TUTdT <Ish
Quality Circles

Tefereh STuTTeHehdr
Perceptual Selectivity
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Explain the concept and rationale of decentralisation. What are the
factors which influence decentralisation ?
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“The line managers’ orientation differs considerably from that of expert
advisors.” Examine this statement.
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What are the main features of Neo-Classical organisation theory ?
Explain the implications of this theory for organisational design.
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Q3. (a)
(b)
(c)
Q4. (a)
(b)

(c)
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“There is a need for integrating individual and organisational goals for
effective performance.” Explain this statement.
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“With a view to taking advantage of personality characteristics of
organisational members, it is desirable to measure their personality.”
Elucidate this statement and explain the various methods for measuring
personality.
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Explain the nature of perception. How does management affect
perception in the organisation ?
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“Organisational change has to be managed on technological, social and
economic dimensions.” Elaborate this statement. What precautions
should be taken in a democratic set-up to make a change acceptable to
the personnel ?
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What do you understand by role conflict ? What are its causes ? Discuss
the methods to overcome role conflict.
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“Transactional analysis is a method of analysing and understanding
interpersonal behaviour.” Examine this statement.
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SECTION B

Q5. Tr=fefea # @ uedes =1 sy 150 vreei § wuee o ¢

Explain the following in about 150 words each : 10x5=50
(a) e fafarfe

Job Specification 10
(b)  HME HETYA TSI

Human Resource Planning 10
() W wa wfegfeam

Trade Union Rivalry 10
(d)  sfarima Hifa

Exit Policy 10
(e)  HOIG{l &A™ IeqTGHdl

Wages vs. Productivity 10

Q6. (a)

(b)

(c)
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Explain the concept of ‘Management by Exception’. What are its
limitations ? Suggest measures to overcome them. 10
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“The fundamental aim of industrial relations is to maintain sound
relations between employees and employers.” Elucidate. What are the
various approaches to industrial relations ? 20

“qra ® I ATHE FHeATT T BT SIS 99 T 9 & |7 w1 A
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“The compliance with the statutory labour welfare provisions in India is
half-hearted and inadequate.” Do you agree with this statement ?
Comment. 20



} Q7. (a)

(b)

(c)

Q8. (a)

(b)

(c)
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“The Trade Union movement in India has not developed on healthy
lines.” Examine this statement. 10
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“Job analysis is useful for overall management of all personnel
activities.” In the light of this statement, explain the purpose and
methods of job analysis. 20
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“Performance appraisal is not merely for appraisal, but also for
accomplishment and improvement of performance.” Comment. 20
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“Selection is virtually a kind of elimination process.” In the light of this
statement, explain the objectives and process of selection. 20
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What are the recommendations of the International Labour Organisation
for minimising the labour problems related to international workforce ?
To what extent have these recommendations been fulfilled in the Indian
context ? 20
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What are the causes of industrial disputes ? Explain the steps taken for
preventing and settling industrial disputes in India. 10








